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A ATHEDL
Hm: ASOIRI|Y P&
Rl AWIOIT A L OIAIRIRI(AYSES|H) (12l M2
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OALSRE A US 406,554,000 406,554
202 04l 447,129 364,458 82,671
04 =Xi=todbl 290,129 207,458 82,671
OZ M2 At e HE 10,000,000 10,000
O=2&# ol 280,129,000 280,129
05 SR W0 157,000 157,000 0
OAZE822 W=F0H| 157,000,000 157,000
AANE & sd Alg2el 194,563 118,789 75,774
101 @124H| 4,500 2,640 1,860
M ORNZZE2NSE S 4,500 2,640 1,860
OAgd 2|2 4,500,000& 4,500
201 er2 3| 190,063 116,149 73,914
01 AtR2te|HI 190,063 116,149 73,914
OuriE 22 174,854,000 174,84
OsdlAg 29 13,230,000 13,230
Oget=ZH| 1,979,000& 1,979
SHSX XS (LLSE3H) 12,004,751 11,670,599 334,152
= 161,000
Al 11,843,751
A 2N s 10,255,821 9,918,906 336,915
201 eer23y| 10,238,541 9,802,021 436,520
01 AtR2t2|HI 4,343,177 53,100 4,290,077
OAds=d SHAE Xd
60,000,000 60,000
Osala 28 20t ZAlg S
2,600,000 2,600
OgrIIy g2Ee N3 5,500,000 5,500
O=d 44523 =24 29
2,730,000 2,730
OFUAE Xelelel S 2d2el
4,272,347 ,000& 4,272,347
2 352484l 2,560 4,165,666 N\4,163,106
OXE 23 2,560,000 2,560
03 A= SHI 41,920 38,220 3,700
Od= AEUE & 25 dAKE S
16,920,000 16,920
OJi= glat Z20d 29
25,000,000 25,000
04 XEE=SAN M Al 5,850,884 5,545,035 305,849
OHBA=SANE AlBYI
5,021, 140,000& 5,021,140
OtM 282 829,744,000 829,744
202 04| 6,880 6,880
01 2K 6.880 6.880
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A ATHEDL
Hm: ASOIRI|Y P&
Eel: BMSI X2 (ASESA) EERED
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
= 36,000
Al 36,000
HoPl= delaega 250,000 230,000 20,000
= 125,000
Al 125,000
201 er2 3| 250,000 230,000 20,000
= 125,000
Al 125,000
01 At 22|l 250,000 0 250,000
OX0bte delagd 29
250,000,000 250,000
= 125,000
Al 125,000
2126t Moligle sdxd 47,187 85,450 A38,263
201 Ler23 | 41,187 18,230 22,957
01 At2teltl 41,187 18,230 22,957
OMeE&Ed 28 S 18,230,000& 18,230
OXfolioe ANMLSAHKX ME S
9,812,000& 9,812
OMOHEEHY 03 SISt DS]
2,203,000& 2,203
Oetd & BA2e|T AU
10,942,000& 10,942
202 04| 6,000 6,000
01 2L AL 6,000 6,000
Oag2tA A2 ST S
6,000,000& 6,000
AE 2 ZHI 189,925 175,156 14,769
Jl2(AL#E) (ALESSIH) 189,925 175,156 14,769
SN2 189,925 175,156 14,769
201 er2 3| 113,282 108,216 5,066
01 AtR2t2|HI 94,322 90,456 3,866
ORAMEg+=S4l 31,200,000 31,200
@r=1=i:] 4,922,000 4,922
o - =4l 58,200,000 58,200
2 s5=34l 18,960 17,760 1,200
O0Isdste=s 4,800,000& 4,800
OR#ERs =S 14,160,000 14,160
202 04| 12,960 10,560 2,400
01 =LHOHI 12,960 10,560 2,400
OJl=gf=d 0| 12,960,000& 12,960
203 HR=&H] 63,683 56,380 7,303
01 J|2=2gdR=a] 16,200 11,000 4,200
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HE & AYY

Al A

SA: ST
M Ay HEYUS Vgt 2=
ol HAB 3 2 (AUSEsH) (o) &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
2| HIZ B 365,440,047 366,338,412 9,101,635
= 8,000
e 34,060,577
Al 331,371,470
22 SYUS Jlgt 2= 41,260,920 50,681, 121 29,420,201
= 8,000
EN 13,800,000
Al 27,452,920
AXE A 2E(AUSLEA) 2,323,391 2,122,9% 200,435
SHe A =29 533,285 479,508 83,777
201 er23 | 31,400 27,400 4,000
01 At2teltl 7,400 7,400 0
OZLANEE SN R0 S
3,500,000 3,500
Os32clE& EAH 1Y S
1,500,000& 1,500
Ouztad ol =2 2,400,000 2,400
02 S5=2g4l 24,000 20,000 4,000
OrgEs 28 SN2 S
24,000,000& 24,000
202 048l 3,840 3,840
01 2L AL 3,840 3,840
OANE & =232 Xz S
3,840,000& 3,840
203 QP =AM 4,200 4,200
03 A ERIQ D= TY| 4,200 4,200
OSE sN2Y L FYIBe| YRE
4,200,000 4,200
307 el2to| & 450,000 367,868 82,132
07 A=kls=s 450,000 367,868 82,132
OAZ xRS & WHEES
450,000,000 450,000
405 AtatE = 43,845 76,200 A\32,355
01 Tt =S F=SH 43,845 76,200 A32,355
OL= MEEJH uH 33,348,000 33,348
OXE=R=E 78 = 10,497,000& 10,497
SEHC SH 2el 1,790,106 1,643,448 146,658
201 Ler=23 | 1,685,002 1,643,448 41,554
01 At2teltl 1,685,002 1,643,448 41,554
OAgds2d IS 1,685,002
oJ|ENE 1,468,020,000& 1,468,020
oAIRAA 216,982,000 216,982
207 ARl 95,884 95,884
02 MAHHZHI 95,884 95,884




2A:

2/ HIEHI

B A HENS JlY 2=
ol HEE 3 2g(Aus (12l M2
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
O4YB2E 1= 20f HAAAY 75
95,884,000& 95,884
405 KHoHFSHI 9,220 9,220
01 ML ESFSHI 9,220 9,220
OA£YTL TI= 2 A8 Ds
9,220,000& 9,220
AUEY e A e (aY 22,800,435 17,455,781 5,404,654
= 8,000
e 13,800,000
Al 9,052,435
JISEHl M 15,579,713 8,319,225 7,260,488
= 8,000
ES 10,710,408
Al 4,861,305
401 AIZHIX S0HH 7,069,206 0 7,069,206
e 4,832,388
Al 2,236,818
01 A28l 6,901,068 0 6,901,068
Oagd A 6,901,068,000& 6,901,068
e 4,832,383
Al 2,068,680
02 Zeld| 162,266 0 162,266
Oagd 24X Zaltl 152,266,000 162,266
03 A2 2 0HYI 15,872 0 15,872
OAYH AX Al
15,872,000 15,872
405 AtatE = 8,510,507 8,318,325 192,182
= 8,000
ES 5,878,020
Al 2,624,487
01 ML ESFSHI 8,510,507 8,318,325 192,182
Odl 2~8Xte 2 840,441,000 840,441
= 8,000
Al 832,441
Oz AgXte uH 7,670,066,000& 7,670,066
E 5,878,020
Al 1,792,046
AEHIEHIAE 29 823,010 729,910 93,100
201 er2 3| 21,010 17,560 3,450
01 AtR2t2|HI 16,710 14,088 2,622
OAYHHIEHIHIH 225
3,455,000 3,455
OS+=48xty o™ g
13,255,000 13,255




SA: ST
M Ay HYUS JIEt 2=
O AT OIS 9 LsHALSHESH) (SH &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
02 S5=g4l 4,300 3,472 828
OAlE &I Xl 4,300,000 4,300
202 04t 2,000 1,920 80
01 =LHOHI 2,000 1,920 80
OxYHH =288 = 2,000,000 2,000
206 M=H| 85,000 80,000 5,000
01 M=8l 85,000 80,000 5,000
OALTHIEHIHE 228 S
85,000,000 85,000
405 AHaHE S 715,000 630,430 84,570
01 TR ESFSHI 715,000 630,430 84,570
Ok= 371887 WA 235,000,000& 235,000
OBHMMEI| 22 480,000,000 480,000
A2 EHl 204 5,986,033 3,889,4% 2,096,537
e 3,089,592
Al 2,8%,441
405 KHaHE SH 5,986,033 3,889,4% 2,096,537
E 3,089,592
Al 2,8%,441
01 TR =S F=H 5,986,033 3,889,49% 2,006,537
Ok= 2334l uHM 22
3,861,990,000& 3,861,990
ES 3,089,592
Al 772,398
Ot 2423 253 24
1,238,361,000& 1,238,361
O &l wH 2
728,989,000 728,989
O&IINSAE 2t ML EH 22
139,623,000 139,623
OUHNAE A2Y A2HTH 2
17,070,000& 17,070
2YH RA2e 471,679 468,402 3,277
201 Ler23 | 465,19 463,362 1,837
01 At2t2lt] 143,010 225,666 A\B2,65%6
Oeggals d2AE e
143,010,000 143,010
02 S3=gl 322,189 237,6% 84,493
OS=A 2t FH| 140,389,000 140,389
OXE eI 95,200,000 95,200
OZ33x2= € HMAl 86,600,000 86,600
202 04l 6,480 5,040 1,440
01 2LHoIH 6,480 5,040 1,440
OAZHHl A B+ S 6,480,000& 6,480




2A:

2/ HIEHI

M Ay HYUS Vgt 2=
ChOl: ASIEAL 21 Y AIMB(ARSHI) CEERE)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
AUFAL HE H AEEZ(AESEIN 16,077,094 31,102,384 15,025,290
2Y2AN RAES 244,672 467,559 N222,887
201 er23| 191,062 143,959 47,103
01 At2teltl 1,700 5,442 N3, 742
OdERE S| /% 500,000 500
OSA & 28 NIA S 1,200,000& 1,200
02 s3=gHl 189,362 138,517 50,845
OXgMHE S M2l It 89,362
o= ANEE Mali=-+ 61,765,000& 61,765
ocdXA= iy 27,597,000& 27,597
OAIZ2 &l |Xd| 100,000,000 100,000
202 04| 9,488 3,600 5,888
01 2LHAH| 9,488 3,600 5,888
O2YEHAL SAHEHE HHEH S
9,488,000& 9,488
401 AlEHIZL SO 44,122 44,122
01 Al&H| 4122 4122
OAg2E dteg)| WAl &AMl
44,122,000& 44,122
SEHAEA &M 7,026,335 6,688,170 338, 165
401 AIEHIX R0 7,026,335 6,688,170 338, 165
01 AlZ2H| 7,026,335 6,688,170 338,165
OHHALA FXI0HH
7,026,335,000& 7,026,335
agstn Old MY =8 29 8,620,000 23,946,655 15,326,655
401 AlEHIZ SO 8,620,000 23,946,655 15,326,655
01 Al&HI 8,620,000 21,550,000 212,930,000
OAgstn 0™ &= SAH|
8,620,000,000& 8,620,000
wWSIKNSH 0l &= 186,087 186,087
401 AIEHIX R0 186,087 186,087
01 A28l 186,087 186,087
OLS1OXISN OId &= ZHHI
186,087,000& 186,087
HY =S ZH 324,179,127 305,657,291 18,521,836
ES 20,260,577
Al 303,918,550
QIARHH(ALESES) 312,264,627 297,037,559 16,227,068
S 20,260,577
Al 292,004,050
IR HH|(ZAHEHID) (ALBRH) 306,470,772 291,734,223 14,736,549
e 20,260,577
Al 286,210,195




SA SIAEHI
;. ¥ 233
Gl QAR AH(ALSESIH) (S & 2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2

101 @124H| 246,077,054 240,754,224 5,322,830
ES 20,260,577
Al 225,816,477

01 &2 246,077,054 240,754,224 5,322,830
osa 131,384,633
SENEES 8,828,000 x21& « 122 2,224,656
oAttd 6,678,000« 104 » 122 8,334,144
oAt 4,650,000 «264E 122 14,731,200
SR 3,960, 7002 <800« 12& 38,450,476
oAd 3,090,300 «879E x 122 32,596,485
oA 2,405,900 «604L * 122 17,437,964
e 2,650,869
Al 14,787,095
oA 2,026,900 «7248 122 17,609,708
ES 17,609,708
od2=g 8,753,818
oAl , A8 4,431,807,000& 4,431,807
oAdd 2,716,374,000& 2,716,374
oAl 871,899,000 871,899
oA BA 733,738,000 733,738
OJt&E=g 2,597,760
S1 BN 40,0003 +2,016F* 122 967,680
s 20,0002 x641H* 123 153,840
oM 30,0003 +1,338F «12& 481,680
o=M 70,0002 +x931& «12& 782,040
oMM 110,000 x161H « 12 212,520
Oga2+=gittts 2,823,600
o250 & 130,000 x651&* 122 859,560
=20~25= 0] 2t 110,000 x338E « 12 446,160
=15~20E 02t 80,0002 703« 12& 674,880
=10~15E 02t 60,0003 *415 123 298,800
o5~10E 012 50,0002 <907~ 12& 544,200
ORg=2 2= 2,288,640
odsE 60,0002 %3, 176E «12& 2,286,720
o33 40,0002 x4 * 122 1,920
OosriE=2 748,800
RS 200,000 <3+ 122 7,200
oAtd 150,000 x16E«12& 28,800
o2gH0lat 100,000 x504EH « 12 712,800
ourgesg 50,0002 «85 « 122 51,000
(OX=19\ FK-120 s 80,0002 +2,618& 122 2,513,280
Osskt=s 3,0002/+30,0002/* 122 1,080,000




2A: FHELI
B sE2oAy|
Ciol: ol2oH|(AMSEE|H) (cr9l: &g
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
OJlsdes4 31,320
oAYH - F 50,000 x7H*12& 4,200
oA - 2 30,000 *24F«12& 8,640
oA 20,0003 *778*12& 18,480
OJ=d380t3 17,400
S I|ISE,IIA 30,0002 +318+12& 11,160
SMIIAF Y 2T
20,0002 %262 * 122 6,240
OS4+22X+g 155,280
O EIC bR E)
200,000& x27H +12& 64,800
oA XA (NE, G 618, AL NS &8, 5
& &AM 50,000 *748«12& 44,400
oZ2X%(R2) 40,0003 x9F =128 4,320
CHTIY (MM F2 LBAYM ZA)
30,0003 *116H +12& 41,760
ORYE=23E 50,0002 40 x 122 24,000
ogsse 50,801
SEEINS 35,167
EN 505,300 x 15+ 12& 6,064
= 404,2003 x6H 122 29,103
o HHIA 15,634
284 279,100 x 18+ 123 3,350
N 217,800 x2Z = 12& 5,228
=S 196,000& +3H x 122 7,056
OgRgRg 21,000
ostund 110,000 x1H + 122 1,320
oAH 60,0003 *1Z 123 720
oAYA 0I5t 40,0003 *128+12& 5,760
ounlth 110,0002 10123 13,200
O=s0tsdg 1,500,000 *728 « 12& 1,296,000
OxI22=+Y S 50,666,988
oAZ2t22RE 32,404,134
OO AMRE 4,745,105
A 15,5213 +37 A 2675« 12& 461,719
EAS=A 13,8033 #37 Al 2h+227 H+ 12 1,391,177
A8 12,6103 #37 A1 2tx170H 128 951,803
A 8HE 11,837&*37 A1 21702« 123 893,457
A=) 10,5563 *37 Al 2Hx 1728« 123 806, 141
DAL 9,685 *37 Al 2H56H * 12& 240,808
3wt SHSHAX 26,997,822
B =
15,5213 +8A| 2H+33H »1/3+366 2 499,901




2A: 3HEEID
B sE2oAy|
el QIE2IH(AUSESIH) (CH9): &S
SA - ZB . 9(B) - NIRAD - BaS ol b e HlmS2
JXeTEY
13,8032 *8A| 2H+33H x1/3+366 444,568
A
12,6103 *8A| 2H620% +1/3+366 7,630,564
YA
11,8373 *BA| 2H+678% x1/3+366 ! 7,832,875
A=)
10,5562 +8A| 2++4 15 x1/3+x366 4,275,603
AL
9,685 *BA| 2++668% *1/3+366 2 6,314,311
4001 SACHAXE 661,207
e
15,5212 #8A| 2H4 X +1/4%366 2 45,446
AU
13,8032 #8A| 2H+4 X x1/4%366 2 40,416
Lge)
12,6103 +8A| 2H*19H *1/4x3662 175,380
PCIES
11,8372 +8 A 2H+31H *1/4+366 268,606
Agn
10,5563 +8A| 2t 173 *1/4x3662 131,359
o224 9,226,662
QWi SHAHAR 9,005,664
A%A
5, 17424 +8A| 2H+33H x1/3+366 166,645
AYH
4,801 3 +BA| 2H+33H *1/3+3662 154,631
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Pl 119DBIALEIAl 20 (AYSESH) (12l M2
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OAIZ2 &l |XId| 17,020,000 17,020
202 04l 12,000 10,400 1,600
01 =LHOHI 12,000 10,400 1,600
OagpRl Aty B
12,000,000 12,000
203 =4l 3,600 3,600
03 A=A 2= 3,600 3,600
O119&eaad 2= 3,600,000 3,600
MorSa&zteldy 2 (ALSESIAH) 829,728 561,764 277,964
Il 220,342
Al 609,386
osae2e|de 29 12,728 223,264 A110,536
Il 55,642
Al 57,086
301 EtE NS 12,728 223,264 110,536
Jl 55,642
Al 57,086
14 0Bt 2a3 12,728 223,264 A110,536
ORSABBRIME S0
111,284,000 111,284
Jl 55,642
Al 55,642
OFsaa2eldE 22|
1,444,000 1,444
1ogat&2e|de X3 387,600 387,600
101 21A4H| 387,600 387,600
04 JIZtN2 2N S 2 387,600 387,600
OJIZtHZ22X 23 387,600,000 387,600
IS XNECIA 22 329,400 328,500 900
Jl 164,700
Al 164,700
301 EtE NS 329,400 328,500 900
Jl 164,700
Al 164,700
14 DBt 23 329,400 328,500 900
O2A2 XN =oAL =& 329,400,000 329,400
) 164,700
Al 164,700
HH =S 3 46,728 46,044 684
JI23HI(1M9BEaraal) (AUSEIH) 46,728 46,044 684
22| 46,728 46,044 684
201 Ler23| 22,368 22,224 144
01 At2teltl 22,368 22,224 144




FA 1195eEd
;. dH I3
CHSl: D2 HUI(10BEAEA) (ALSES|H) (chel:m
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
ORNEg=+=3HI 19,872,000& 19,872
O=gH| 2,496,000& 2,4%
202 04| 15,840 15,360 480
01 2L AL 15,840 15,360 480
OJl=g R 15,840,000& 15,840
203 =] 8,520 8,460 60
M EASHLRFAH 8,520 8,460 60
O1oseaaa 8,520
=302! Olat 4,800,000 4,800
&= 3,720,000& 3,720




H & 0l & AHS B Ml A

19statii s A (SH9 H2)
BB S9I(EH) - HRAR - BaS A HIDEZ
ISt SdE 251,699 261,616 A9,917
HHSHA 229,507 239,656 210,149
193t St S MH 229,507 239,656 10,149
1193t HSHE RAl2tel 174,143 143,288 30,855
101 21AH| 34,185 33,237 948
04 I H2=2 34,185 33,237 948
OFAt2AeIe 34,184,690 34,185
201 er=3| 123,640 81,225 42,415
01 AFR2telHl 14,978 8,344 6,634
OXJIHEEd U= 1,320,000& 1,320
ORIESAMIZAARS 2
1,000,000& 1,000
Oflg=ardae| g2 s MR
1,800,000 1,800
olstet=d FS =S
Oi=ed M 2,640,000 2,640
Ofst=2 =Y
5,554,000& 5,554
O=7Z=
1,800,000& 1,800
O2l= 864,000 864
2332 108,662 72,881 35,781
(OI=1=1% 45,015,000& 45,015
OdzH| 31,920,000& 31,920
OAeE 23,875,000& 23,875
(OREATS, 7,852,000 7,852
206 MH=HI 6,000 6,000
01 =8l 6,000 6,000
O& A= 25 S 3,000,000 3,000
OzZolsA A2F 1,800,000 1,800
OJnge 3 1,200,000& 1,200
401 Al£Hl 10,318 28,826 18,508
01 Al&HI 10,318 28,826 18,508
Oz gxt 10,318,000 10,318
SIAHIHESESE Hat 55,364 9,368 241,004
202 04l 4,320 4,320 0
01 =LH0IH 4,320 4,320 0
OsteAIIUE Ua
1,920,000& 1,820
Ouszd & 2,400,000 2,400
203 =] 3,600 3,600
03 AIR=T 3,600 3,600
O3zt At 3,600,000 3,600




2A:

S SISTMHUIS A &
o2l 1193ISHHSHIE I (ARSESIH) (G2 &2l)
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2

206 =6l 43,724 61,368 A17,644

01 =Yl 43,724 61,368 A17,644
ORxZEH A4 =23 43,724,000 43,724

405 Xtk S| 3,720 1,560 2,160

01 AL =ZF S| 3,720 1,560 2,160
LE=S 1,240,000 *3CH 3,720

HH2FZI 22,192 21,960 232

JI=2BI(1193IEH I SHE ) (AU SESIA) 22,192 21,960 232

fA23hI 22,192 21,960 232

201 LB-2AY| 12,192 12,360 2168

01 AtR2telt] 12,192 12,360 A168
ORN2Z+EH] 11,232,000 11,232
O=gt| 960,000& 960

202 0441 5,200 4,800 400

01 =2LHOd ] 5,200 4,800 400
OJl2g+d ol 5,200,000& 5,200

203 R F=&H| 4,800 4,800
M EA2IHRFAL 4,800 4,800

O193} st SHIE 4,800,000 4,800




H & 0l & AHS B Ml A

20243 =0l ARSE A &H
SN ERAUA
I ZRAUN 29
Gl A I8t ZH(AUSHES|H) EERED
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
SEAEAM 2,410,665 3,214,807 A804,142
SRAEA 2 2,179,547 2,981,253 A801,706
A8 DIt T (AYSESHA) 933,565 1,191,450 N257,885
AY2AN RAES 696,531 952,158 N255,627
101 21AH| 48,588 46,874 1,714
04 JIZtN2Z2XNSE+ 48,588 46,874 1,714
O&FAr2e| 12 34,184,690 34,185
OXtg=ed FAt2e|2R
14,402,200 14,403
201 er2&| 546,908 504,818 42,090
01 At2teltl 82,172 80,055 2,117
Odgt+==H| 35,880
o NS OLMHIE 350,0002 x 10 A 123 4,200
oQtNHEIH S 300,000 x7JH 2% 123 25,200
o XIS 90,0003 *4 2+ 12 4,320
olt@sdd 180,000& *1JH A% 12 2,160
Oag2AN 22lES 5,497,900& 5,498
OetEdE 2X itz 40,794
o OH 19N MIE 20,704,140 20,705
SRS 20,088,200 20,089
2 s5=34l 464,736 424,763 39,973
Os&s= € MA 286,998,000 286,998
Og=zH| 34,000,000 34,000
OAlZ EHIs Xl 133, 138,500 133,139
OXE+ed 29 10,599,000 10,599
206 MH=Hl 3,700 3,700
01 MZH| 3,700 3,700
OFAr2e| 4A2F 2,500,000& 2,500
ONge atde ~A2S 1,200,000 1,200
401 AIEHIZ SR HYI 96,645 396,766 A300,121
01 Al&HI 96,645 396,766 A300,121
OXtn2 AHHEX EX SA
30,800,000& 30,800
O2A AU 2B SAt
14,923,000& 14,923
OBy e SAH
11,934,000 11,934
OEAMXIS LEDWHM SAt 19,000,000 19,000
OUoHHIE StEA 3 AFRIA JHE SAt
19,988,000& 19,988
405 KHoHF S| 690 690
01 ML ESFSHI 690 690
OFA2el =23 690




SN ERAUA
I ZRAUN 29
Gl A I8t ZH(AUSHES|H) EERED
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
=0l=| 320,000 *1CH 320
o=2|g HIX| 370,000 *1H 370
A =X B 18,924 12,280 6,644
405 AtatE = 18,924 12,280 6,644
01 TR ESFISHI 18,924 12,280 6,644
OZEA=X=Z 18,924
SN 300, 000& *33H 9,900
o329 g gt 300,000 *1H 300
SESI 900, 0002 =504 4,500
oSHEX 300,000 *1H 300
SHHA(HZ0l) 764,000 ~1CH 764
SEE(L]ES 800,000 *3CH 2,400
oFHAD| 380,000 *2CH 760
UMY 28 181,680 191,922 A10,242
201 er23| 161,830 167,850 /16,020
01 AtR2t2|HI 148,230 164,250 216,020
O=4lE AN 7S 148,230,000 148,230
02 S3=gHl 3,600 3,600 0
OS42 &Il Xeldl S
3,600,000 3,600
206 M=l 18,300 15,600 2,700
01 MZH| 18,300 15,600 2,700
degalas 28 AR2S 5,400,000& 5,400
O20lzala 29 2R2F 12,900
o QHE HIE 10,500,000& 10,500
o XIS 2,400,000 2,400
405 AHaHE = 11,550 8,472 3,078
01 It =S F=H 11,550 8,472 3,078
O&dtsAA 28 =23 5,310
oYATHE 2,730,000 «1CH 2,730
oFEH| 1,980,000 *1CH 1,980
SL G 600,000 1CH 600
OoZolsrlAs 23 =23 6,240
oAJIHIF 1,000,000 *1CH 1,000
SHAHA(AHE) 1,800,000 «1CH 1,800
oMIIgE 330,000 2CH 660
SR 80,000 *6H 480
o JtAd QI 300,000 *3CH 900
odd 700,000 =2CH 1,400
S¥Es ™2l 36,430 35,090 1,340
201 fet=3| 21,080 5,800 15,280
01 AtR2t2|HI 15,880 1,000 14,880
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SN ERAUA
I ZRAUN 29
G HESE S AsHAUSHIN) (12l M2
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
o &M Y 2,000,000& 2,000
o MAY RIS 2,000,000 2,000
O7=gs 428 S 82,350,000& 82,350
301 22N = 800 800
11 AALEIXIES 800 800
OMEd A2US 24 sS4l
800,000 800
ZAEH =2< 538,591 1,077,915 /539,324
301 EtE N = 529,043 473,097 55,946
05 S| EA LA B 529,043 473,097 55,946
Ooxd & sa+E 266,324,000 266,324
Ousgsd 4 0l 50,040,000 50,040
O2sAgl 24l 14,280,000 14,280
Oxd&st= 61,618,000 61,618
Ooul =l 51,521
oJlEUE wA 26,400,000 26,400
oMAUE Y 25,121,000 25,121
OdgosSA2U X2 3H| 85,260
cHYZAYN ESUI| =&
75,660,000& 75,660
olMgoASAYU FAL FAlZY]
9,600,000 9,600
405 AtatE = 9,548 3,900 5,648
01 TR ESF SHI 9,548 3,900 5,648
OLsAel 2H=2 9,548,000& 9,548
S& X3 AAE 2 3,844 5,640 A1,79%6
201 er23| 500 0 500
01 AlR2teldl 500 0 500
OAgxt 2 HF)| B0z S22
500,000 500
202 048l 1,440 1,440
01 2L AL 1,440 1,440
SEIIXN= B S 1,440,000& 1,440
206 M=l 1,500 2,500 A1,000
01 MHZHI 1,500 2,500 A1,000
Oolfjteidegs 4222 1,500,000 1,500
401 AlZHIZL SO 404 404
01 Al&H 404 404
OF&= FIIAA & Moot
404,000 404
SHHEAL H23F 5,900 5,900
202 O4H| 2,400 2,400
01 2L AL 2,400 2,400




SN ERAUA
ZH: SLAUN 29
G HESE S AsHAUSHIN) (12l M2
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
O3 HZA LA S 2,400,000 2,400
206 M=l 3,500 3,500
01 MZH| 3,500 3,500
OZHZAL A2F 2,500,000 2,500
Ozt MHAA S| 1,000,000& 1,000
22EE IS 6,940 6,740 200
201 223 3,200 3,000 200
03 A2 I 3,200 3,000 200
OME 21272% 24 S
3,200,000& 3,200
202 04l 960 960
01 =LHNHI 960 960
OAded Bt & 288 S
960,000 960
206 M=l 1,980 1,980
01 M= HI 1,980 1,980
O=dE HYE & 238 S
1,980,000 1,980
301 EtE NS 800 800
11 dAMEEIXIE S 800 800
ONtitles 2012 SAH|
800,000 800
HH=2Z 3 231,118 233,554 N2,436
JI2BH(BRALA) (LLSESIH) 231,118 233,554 2,436
22| 231,118 233,554 A2,436
201 er2 3| 112,978 112,944 34
01 At2tlt] 112,978 112,944 34
OFAEE+SY 48,634,000 48,634
o=l 6,144,000& 6,144
Oog - =2| 58,200,000& 58,200
202 04| 33,620 34,500 A880
01 =LHOLI 33,620 34,500 A880
OJ|2gRd 33,620,000 33,620
203 HR=H] 83,720 84,260 AB40
01 J|2=2ged =AY 14,800 14,800 0
OxgAE 4,400,000 4,400
ONMRMMHEHE S 1,300,0002 8% 10,400
02 32 JRHH 2= 10,300 10,540 A240
O1008 DXl 40,0002 100 4,000
0O101~400& 30,000&x210H 6,300
M EA2ER=AH 58,620 58,920 A300
O=2AM 12,900




2A:

R
=Sk
- dET
'?‘I(Eljﬂ) ° k”-‘?—M‘@ ° E}é‘g 0”&.()_‘”
Ol OlBH(119THLITHS )
2,100,000& 2,100
OloH(A & L) 3,000,0002 3,000
oloHE&USH) 3,600,000 3,600
OIGHOfl ot & 1t) 4,200,000 4,200
1S 44,400
OlGH( X

8,400,000& 8,400

<2021 OloH(eY S
7,200,000& 7,200

=302! =2 S
28,800,000& 28,800
[P = 1,320
oS YOHA 1,320,000& 1,320
800
800
800,000+ 1CH 800




H £ 0l & AF & S

Al A

20243 =0l ARSE A &H
SN SN
HY: UEAN 29
S Agtel It T (AYSESE|H) (CH9: /M)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
gsAgA 1,999,034 1,961,049 37,985
gsagk 29 1,789,193 1,747,211 41,982
A8 DIt T (AYSESHA) 807,400 912,389 104,989
AY2AN RAES 544,248 634,337 /90,089
101 21AH| 34,185 33,237 948
04 JIZtN2Z2XNSE+ 34,185 33,237 948
O&FAr2e| 12 34,184,690 34,185
201 2= 421,5% 428,067 26,471
01 At2t2ltl 59,650 35,49 24,151
Oget=ZH| 22,200
SESERURSE=] 350,000 #1042+ 123 4,200
oQtMHIH S 300,0002 x50 A 123 18,000
Oag2A 2elES 6,950,000 6,950
OBt=dIE HAIEAL SXZ
22,000,000 22,000
Oft=HIE OlAHYI 8,500,000& 8,500
02 S3=gHl 361,946 392,568 A30,622
Os&sk= € MA 235,050,000 235,050
Og=zh| 35,000,000& 35,000
OAlZ &I Xl 91,8%,000& 91,8%6
206 M=l 3,700 3,700
01 MZH| 3,700 3,700
OFArZe| A2F 2,500,000& 2,500
ONge atde ~A2S 1,200,000& 1,200
401 Al HIZ R 0HbI 84,767 129,333 AN44,566
01 AlZ8| 84,767 129,333 N44,566
O2A i 22 S 2= SAt
17,842,000& 17,842
Ot 2 AHHEX EX SA
5,852,000& 5,852
O2A HEAR!I WAl SAt
11,234,300 11,235
OZtHHIE] 25 &4 & AFRIE X SA
36,755,000 36,755
OZYUE Q¥4 S B4 BA
13,083,000& 13,083
A FA s 24,5% 37,141 N12,545
405 AtatsE = 24,5% 37,141 A12,545
01 ML ESFSHI 24,596 37,141 A12,545
HNEA=N=S 24,596
SN 300,0002*43H 12,900
SEE(L]ES 800,000 1CH 800
cHYHIA(AE) 450,000 +5CH 2,250




SN SN
HY: UEAN 29
Gl A I8t ZH(AUSHES|H) EERED
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< ollo (H=z0l) 764,002 =4CH 3,056
o HLE | (HZA0]) 990,000 1CH 990
oFHAJ| 380,000 *1CH 380
ol 280,000 *1H 280
SLIE 230,000 *3CH 690
SN =P 650,000 *5CH 3,250
SUAE 24 211,946 214,507 A2,561
201 er23| 197,946 197,415 531
01 AtR2t2|HI 194,346 193,815 531
O=4lE AN 7S 194,346,000 194,346
02 S3=gHl 3,600 3,600 0
OS42 &Il Xeldl S
3,600,000 3,600
206 M=l 11,400 9,600 1,800
01 MZH| 11,400 9,600 1,800
O8HsaA 2E ARE 5,400,000& 5,400
O20lzala 28 AR2S 6,000,000& 6,000
405 AtatE = 2,600 7,492 N4,892
01 TR =SFISHI 2,600 7,492 N4,892
O&dasss 28 23 2,600
oAJINIF | 2,600,000 *1CH 2,600
s¥as otdae| 26,610 26,404 206
201 Ler23| 15,400 4,600 10,800
01 At2teltl 11,400 1,000 10,400
Osldgs & s 2AMe S
1,000,000 1,000
Oosdiotgd 28 S 4,800,000 4,800
Oosdgs N s 5,600,000 5,600
2 352484l 4,000 3,600 400
OME %= 4,000,000 4,000
202 04t 2,130 2,130
01 =LHOHI 2,130 2,130
OME&Ed =& S 2,130,000& 2,130
405 AtatE=H 9,080 10,480 1,400
01 TR =SFISHI 9,080 10,480 21,400
ONM=E AT+ 9,080
ol dZeA 2,160,000 *2CH 4,320
od dAAHA 2,160,000 *1CH 2,160
=0l XlBt 220,000 *2CH 440
oSZNE M 2,160,000 *1CH 2,160
S0 S2ES(AYSESIH) 71,334 63,382 7,952
AHHUE = 6,620 6,620 0
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OM=E eI+ 3,535,000& 3,535
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01 J| 222G RFA| 12,200 12,200 0
OLxYME 4,400,000 4,400
OMNMRUAMHEHE S 1,300,000 6 7,800
02 BRI AHRZ=LIH| 9,430 9,670 A240
O100& ItXl 40,0003 *100% 4,000
O101~400 30,0002 181 5,430
M PA2IHRFALI 43,140 44,400 A1,260
oM 12,300
<102! OlaH( 119/ tCHE 1)
2,100,000& 2,100
o 150! OlGH( A& D) 3,000,000& 3,000
<2001 Olah( oot & ot HATHSC)
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OtMHEH S 28,200
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405 RHaHE S| 7,490 9,720 A2,230
01 AL SEFHSHI 7,490 9,720 N2,230
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OMNPETHHAE) 210,000 & *9JHK 1,890
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Oxd&st= 36,411,000& 36,411
oul=Hl 29,605
oJlEUE wA 15,000,000 15,000
oAIRHE 7Y 14,605,000 14,605
405 AHAHE S 2,654 2,124 530
01 IR =S F=H 2,654 2,124 530
O2z2dl 2H=2 2,654,000& 2,654
& X3 AAE" 2 3,469 2,940 529
202 04l 1,440 1,440
01 =LHOHI 1,440 1,440
ORdJIIK= 88 S 1,440,000& 1,440
206 M=l 1,500 1,500
01 M=8l 1,500 1,500
Olfteidegs 4223 1,500,000& 1,500
401 AIEHIZL SO 529 529
01 Al&HI 529 529
OF&= FIIAA & Moot
529,000 529
SHHEAL B 23t 5,900 5,900
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OSHHEA SLXAL S 2,400,000 2,400
206 M=l 3,500 3,500
01 M= HI 3,500 3,500
OSHEAL A2F 2,500,000& 2,500
O3 MHASH| 1,000,000& 1,000
agied @o2d 6,940 6.740 200
201 Ler23| 3,200 3,000 200
03 A= SHI 3,200 3,000 200
OMUEl 274 24
3,200,000& 3,200
202 04| 960 960
01 2LHA b 960 960
Oagesd 8ot & 288
960,000 960
206 MH=HI 1,980 1,980
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Os2dE e & 556
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301 EtE2 NS 800 800
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201 L2 | 116,338 116,664 A326
01 At 22|l 116,338 116,664 A326
ORNZSE+EH| 51,897,600& 51,898
O=&t| 6,240,000& 6,240
oY - =2l 58,200,000& 58,200
202 Ot 32,59 33,600 21,005
01 =04l 32,59 33,600 21,005
o2 32,595,000 32,59
203 PR =&IH| 72,850 75,640 A2,790
01 J|22HHRF=AH| 13,500 13,500 0
OxgME 4,400,000& 4,400
ONHMHEHE S 1,300,000&*7H 9,100
02 ZRAINHAS =AY 10,750 11,080 A330
O100Z8 MK 40,0002 *100Z 4,000
O101~400 30,000& 225 6,750
M FA2LHRFAHI 48,600 51,060 A2,460
O=A 12,300
<10@! OIBH( 119 HTH S 1)
2,100,000& 2,100
© 152! O[GH( A LA D}) 3,000,000& 3,000
<2001 OIGH YoMt SHAHSE)
7,200,000& 7,200
ONRIMHEH S 33,000
o2591 OloH(2Z=CH) 4,200,000 4,200
<3021 0I5HZ A& S 6IHA)
28,800,000 28,800
Oot= 3,300
o2 AL HIH 2,220,000& 2,220
oS HOIMHIEH 120,000& 120
o (= OtM HIE 480,000 480
o RIHerEMIH 480,000& 480
405 XHobE S| 8,740 9,470 AT30
01 ML =SFSHI 8,740 9,470 AT30
OHFALRI1D] 8,740
=oZMAIEDI 800, 000 & *3CH 2,400
ocLES 1,240,000 *1CH 1,240
o2 A 300,000 *374 900
SAIREIHEEAZ) 210,000& *2004 4,200
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NEAEA 9,800,821 2,186,555 7,614,266
NEAEAN 2 9,362,853 1,945,869 7,416,984
A8 DIt T (AYSESHA) 8,286,4% 868,618 7,417,878
AY2AN RAES 568,597 591,602 A\23,005
101 21AH| 68,370 66,473 1,897
04 JIZtN2Z2XNSE+ 68,370 66,473 1,897
O&FAr2e| 12 68,369,380 68,370
201 2= 478,057 477,570 487
01 At2t2ltl 69,582 66,860 2,722
Oggt=3ZH| 33,000
SESERURSE=] 350,000 #1042+ 123 4,200
oQtMHIH S 300,000 x84 A 12 28,800
Oag2A 2elES 5,692,000 5,692
OdlEdE 22X 8xtg 30,889, 160 30,890
02 S5=2g4l 408,475 410,710 N2,235
O332= € HAl 256,208,000 256,208
OugH| 35,000,000 35,000
OAIE2EBI= X 117,267,000 17,267
206 M=l 3,700 3,700
01 MHZHI 3,700 3,700
OFArZe| A2F 2,500,000& 2,500
ONLE =t 423 1,200,000 1,200
401 AIEHIX SO 18,470 43,859 N\25,389
01 AlZH| 18,470 43,859 N\25,389
O ESZ2 Z& SAt
18,470,000 18,470
NBAYA c|2EE 7,518,536 7,518,536
201 =3 327,000 327,000
01 At22t2l] 327,000 327,000
(@Fp/ Eotat=d 16,200,000 16,200
OAIEA Xt = 184,800,000 184,800
OZAIEAL OlAHI 126,000,000 126,000
401 Al HIZ S OHbI 7,191,536 7,191,536
01 A28l 7,008,070 7,008,070
O A c|Z2EE SAYI
7,098,070,000& 7,008,070
02 2l 83,045 0 83,045
OL=&A cl28d 2]
83,045,000 83,045
03 A2 THYI 10,421 0 10,421
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E =X 58 12,900 12,180 720
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o WHLED|(HZ0]) 990,000 *2CH 1,980
odd 700,000 1CH 700
S EP) 800,000 ~2CH 1,600
oAXD| 900,000 *3CH 2,700
odigulA 800,000 <2CH 1,600
oY HIA (2 450,000 6K 2,700
S ISTEIES 135,000 1204 1,620
TUAE 29 147,723 237,800 290,077
201 el 118,890 217,125 A98,235
01 At2telt] 115,290 213,525 A\98,235
O8AE Ak 115,290,000 115,290
2 s5=34l 3,600 3,600 0
OSAlE M)l XMeldl S
3,600,000& 3,600
206 M=H| 14,400 12,000 2,400
01 M=8l 14,400 12,000 2,400
O&tzalA 2E ARE 5,400,000& 5,400
Oolsals 28 ARE 9,000,000& 9,000
405 AHatE = 14,433 8,675 5,758
01 ML ESFSHI 14,433 8,675 5,758
OTtsAMA 28 =23 12,390
oFgH| 1,980,000 *1H 1,980
oAl FE 1,900,000 *1H 1,900
oA 28t 190,000 *1H 190
oAE(Rel Z8) 200, 000!+ 167K 3,200
SN 80,0002 x64H 5,120
OZolsrs 28 =23 2,043
odXdED 1,190,000 1CH 1,190
o™ Xtell el 195,000& *1CH 195
ol 658,000 *1H 658
SiYEs ord e 38,740 27,036 11,704
201 er=23y| 20,920 5,680 16,240
01 AtR2t2lHl 16,720 1,000 14,720
Oszdas odae| s 2AME 8
1,000,000 1,000
Oodultds 28 S 6,720,000& 6.720
osdgs NE s 8,000,000& 8,000
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OM&E eI+ 15,120
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oHlIX|Zef A 550,000 *3CH 1,650
o & 1,230,000 *1CH 1,230
o ADIAMA 3,400,000 *1CH 3,400
ot 720,000 *1SET 720
oxldad 720,000 ~2CH 1,440
oRHELHZE O 2,160,000 «1CH 2,160
o H+el 1,500,000 *1CH 1,500
=0[XlBt 220,000 *1CH 220
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ESISSIFSIE P S| 6,620 6,620 0
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OALOHMII M HAL S 3,900,000 3,900
202 04l 1,920 1,920
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OLorMUz g5 NA S
1,920,000 1,920
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OSHH M AL M E Bt 6,480,000 6,480
Oougde &gt 8,640,000& 8,640
OALLES NEXA S 10,800,000 10,800
301 EtE2 NS 1,000 1,000
11 #AIAHIXIZ = 1,000 1,000
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oJ|EHE WXl 12,600,000& 12,600
oAAUE P 12,269,000 12,269
405 KHHFSH| 2,018 0 2,018
01 XML =ZFSHI 2,018 0 2,018
OoZ2A4ll 2E2S 2,018,000& 2,018
AHE XIF AAE 2F 10,096 9,540 556
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202 44| 2,400 2,400
01 =2LHO4 ] 2,400 2,400
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203 gF=4| 83,010 84,180 AT1,170
01 D22 HARFA| 16,100 16,100 0
OxgAE 4,400,000 4,400
ONRMHEE S 1,300,000 9 11,700
02 3t RS &| 11,290 11,500 A210
O100& DXl 40,0003 100 4,000
O101~400& 30,0003 »243H 7,290
M EASHLRFAH 556,620 56,580 A960
O=A 12,900
=102l OISH 19X HTHS )
2,100,000& 2,100
= 1501 OlSHAZHE ) 3,000,000 3,000
=202l OIGHEEUSH) 3,600,000& 3,600
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O&FAr2e| 12 34,184,690 34,185
201 2= 458,320 366,917 91,403
01 At2t2ltl 42,850 25,800 17,050
Oggt=3ZH| 25,800
SESERURSE=] 350,000 #1042+ 123 4,200
oQtMHIH S 300,000 x6H A 123 21,600
Oag2A 2elES 17,050,000& 17,050
02 35284l 415,470 3117 74,353
OZ332= € HAl 215,470,000 215,470
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206 M=l 3,700 3,700
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Ootl=sdzed 2= 66,118,000 66,118
QIEa 2 HOHQ A S HXIZAH2AM) 766,226 0 766,226
401 Al HIZ 2018 750,534 750,534
01 Al&H| 742,877 742,877
OulZa & Hoiel Ald S X SAtl
742,877,000& 742,877
02 Zeltl 7,657 0 7,657
ORlEA & FoHel Ald S &XI 2l
7,657,000 7,657
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QA 2 O A S Xl 2E=3
15,692,000 15,692
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oAXD| 900,000 *2CH 1,800
SEE (LRS! 800,000 ~2CH 1,600
cHfHIM(AE) 450,000 4CH 1,800
oH| 0l 230,000 2CH 460
Sgat=p) 51,0002 +5CH 255
=34 NAIEDI 750,000 1CH 750
S 150,000 *1CH 150
oEU =AY 300,000 *1H 300
SJUISEES 135,000 *3H 405
SIHRIA S S 300,000& * 14k 4,200
UAE 23 211,546 221,970 10,424
201 2= 197,946 197,415 531
01 AtR2t2lt] 194,346 193,815 531
Oz=Al8 AN 2 194,346,000 194,346
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Os42 &Il XMeldl S
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206 M=l 12,900 10,800 2,100
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405 AHaHE = 700 13,755 213,055
01 AL =S F=HI 700 13,755 13,085
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odFl 700,000 1CH 700
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SN BEAYA
HM: DOABN 29
ool SREE S AsH(Agsa) (o) @)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
05 2SALUA2 Y] 310,215 279,097 31,118
O4d & SE+E 184,611,000 184,611
Ousgsd 4 ol 35,040,000 35,040
ogsEagl =2 9,240,000& 9,240
OXdEst= 44,813,000 44,813
Onl =4l 36,511
oJIEUE wH 18,400,000 18,400
odlAUE 2 18,111,000& 18,111
405 AtatE = 11,239 4,140 7,099
01 TR =S FSHI 11,239 4,140 7,099
OLsAel 2H=2 11,239,000& 11,239
& X5 AAE 2 3,485 2,940 545
202 04l 1,440 1,440
01 2LHoIH 1,440 1,440
OR&IIN= 88 S 1,440,000& 1,440
206 M=l 1,500 1,500
01 MZH| 1,500 1,500
ONteidgs 423 1,500,000& 1,500
401 AlZHIZ SO 545 545
01 AlZ28| 545 545
OR&= FIIZAL & W51t
545,000 545
SHHEAL B 23t 5,900 5,900 0
202 04l 2,400 2,400
01 2LHoIH 2,400 2,400
O3 HBA LA S 2,400,000& 2,400
206 M=l 3,500 3,500
01 M=4l 3,500 3,500
OZHEAL A2F 2,500,000 2,500
Ozt HAA S| 1,000,000 1,000
22EE HIIEE 6,940 6,740 200
201 2egh=3| 3,200 3,000 200
03 A=l 3,200 3,000 200
OME 21272% 24 S
3,200,000& 3,200
202 04t 960 960
01 =LHOHI 960 960
OAdeEd Bt & 288 S
960,000 960
206 M=l 1,980 1,980
01 MHZHI 1,980 1,980
OEE ololet U 236 £
1,980,000 1,980
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o dEEE =% ASHAYEEIH) (G2 &2l)
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
301 LPBNZ 800 800
11 HAAHIXIE S 800 800
ONiidl2d sa2di2 =4I|
800,000& 800
HH2IFZ| 226,474 222,132 4,342
J2BU(SSHAYA) (ALSEFH) 226,474 222,132 4,342
fAS3hI 226,474 222,132 4,342
201 L2 AY| 113,890 112,416 1,474
01 AtR2elt] 113,890 112,416 1,474
ORN2Z+=EH| 49,450,000& 49,450
O=tl 6,240,000& 6,240
o - =28l 58,200,000& 58,200
202 0441 31,058 31,000 58
01 =2LHO4 ] 31,058 31,000 58
OJ|2gRs3 31,058,000 31,058
203 RF=&H| 72,190 72,340 2150
01 J| 22 RFA| 13,500 13,500 0
OxYME 4,400,000 4,400
OMNMRAUMHEHE S 1,300,000& 7 9,100
02 BRIHAHE R FAH| 10,270 10,300 A30
O100& DXl 40,0003 100X 4,000
O101~400 30,000 x209H 6,270
M EA2IHRFAL 48,420 48,540 2120
oM 12,900
<102! OISHHHTHS D) 2,100,000& 2,100
<1501 O|GH( A& ) 3,000,000& 3,000
<2021 OloHEAUSH) 3,600,000& 3,600
o251 OlaH(ofl ot & ) 4,200,000 4,200
OtMHEH S 33,000
o250!1 OloH (= =01) 4,200,000& 4,200
o300 Ol 2& S 6IHA)
28,800,000 28,800
(@p)F= 2,520
o &M MIE 2,220,000& 2,220
osEHMMIE 300,000& 300
405 KHHESHI 9,33 6,376 2,960
01 XML =EF S| 9,336 6,376 2,960
O&#EAIRI1D| 9,336
o AREHESH| 37,000 8K 2%
o ZAMAIET] 800,000 24 1,600
SEIEIE=CIPN; 150, 0002 *8JHK 1,200
oltE|d S 43 1,980,000& *1SET 1,980
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CHl: D22 (2THAYA) (ALSSE3|H) G
i _ SIE|
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=392 §Xt 300, 000& *130H 3,900

o398 E§IHZHE)

180, 000& *2H

360
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HA M
HEAEN =24
agted Ik 2 (AYSEEH) EERED
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
e BN 1,715,242 1,559,645 185,597
HELAEAN 2 1,504,974 1,365,737 149,237
A8 DIt T (AYSESHA) 778,280 691,463 86,817
AY2AN RAES 470,360 466,022 4,338
101 21AH| 34,185 33,237 948
04 JIZtN2Z2XNSE+ 34,185 33,237 948
O&FAr2e| 12 34,184,690 34,185
201 2= 341,904 315,770 26,134
01 At2t2ltl 26,689 18,600 8,089
Oggt=3ZH| 18,600
SESERURSE=] 350,000 #1042+ 123 4,200
oQtMHIH S 300,0002 *40H A% 123 14,400
Oag2A 2elES 8,088,720& 8,089
02 35284l 315,215 297,170 18,045
OZ332= € HAl 218,525,000 218,525
Od=H| 22,000,000 22,000
OAIZ2Z =X 74,690,000 74,690
206 M=l 3,700 3,700
01 M=4l 3,700 3,700
OFEAMZe| 225 2,500,000& 2,500
ONLE ot 423 1,200,000& 1,200
401 Al HIZL 2018 90,571 110,807 N20,236
01 Al&H| 90,571 110,807 A20,236
OFIIMIE ot 2 SA
54,791,000& 54,791
OXLE HEHX| &R SAt
14,000,000& 14,000
O=A HE =8A B4 ZA
21,780,000 21,780
e =X 58 7,129 8,780 21,651
405 AHatE = 7,129 8,780 21,651
01 MMM ESFSHI 7,129 8,780 1,651
A== 7,129
odte| 2,525,000 1CH 2,525
SHlHA(HZ0l) 764,000 ~1CH 764
SRaE=p) 51,0002 =40CH 2,040
g HIM(2E) 450,000 =4CH 1,800
SUAE 24 217,481 195,455 82,026
201 er2 3| 184,770 184,275 495
01 AtR2t2|HI 181,170 180,675 495
O=AlE AN 7S 181,170,000 181,170
02 s3=ghl 3,600 3,600 0
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SEFEESTIE R
3,600,000& 3,600
206 M=l 9,900 8,400 1,500
01 M=4l 9,900 8,400 1,500
O&dtSAA 2Y A2F 5,400,000& 5,400
OoIgals 28 ARE 4,500,000 4,500
401 Al HIZL S 0HYI 75,601 75,601
01 Al&H| 75,601 75,601
HHSAlA =Y SA 42,922,000 42,922
OZ0ISAlA Zeld B4 2At
11,143,0002 11,143
OdHaAlA 2IZE EX| SA
21,536,000& 21,536
405 AHAHE S 7,210 2,780 4,430
01 AL =S F=HI 7,210 2,780 4,430
O&dHsAA 2Y =23 6,600
oAJIHIFEI 2,600,000 *1CH 2,600
oligddn 2,730,000 *1CH 2,730
oZ 0t A=) 990,000 *1CH 990
ol 280,000 «1CH 280
OoZolsrls 28 =23 610
oMIIgE 330,000 *1CH 330
SESEIE 280,000 *1CH 280
STEs M2 23,310 21,206 2,104
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1,000,000 1,000
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SN HSAYA
M SN 2S
Gl HESE S AsHAUSHIN) (12l M2
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
405 AHaHE = 10,450 4,599 5,851
01 It =S F = 10,450 4,599 5,851
Oxggs NEES 10,450
SIHRICHM | 228
550,000&*19H 10,450
X, 1=g8s XE 144,914 141,368 3,546
201 2= 4,746 1,600 3,146
01 At22t2l] 600 600 0
Ol At At 2e2sXEM N S
600,000 600
2 35234l 3,146 0 3,146
O7x&Hl Hu3dbl 3,146,000& 3,146
03 A= I 1,000 1,000 0
OoNtsd Fsiis &4 1,000,000& 1,000
202 04| 2,400 2,400
01 =LHOLI 2,400 2,400
OFRxXR HEHESE S 960,000 960
O7=g: A8 S 1,440,000& 1,440
206 MH=Hl 136,968 136,568 400
01 MZH| 136,968 136,568 400
O7xEs 423 S 5,700
oM 3,700,000 3,700
o MEOHM Y 2,000,000& 2,000
O7=8s A28 S 131,268,000 131,268
301 EtE N = 800 800
11 dALEBIXNIZE S 800 800
Ot d F2iis &4 SAl|
800,000 800
EAEl =24 177,214 142,655 34,559
301 Eet2 NS 177,214 142,655 34,559
05 oISAUHAIE ZH 177,214 142,655 34,559
Oad & SA=E 106,530,000 106,530
Ou=ssd 4 0l 17,640,000 17,640
Oo2z2l =24yl 6,720,000& 6,720
OXH&st=s 25,208,000 25,208
Oul=t| 21,116
oJ|EUE wH 10,600,000 10,600
oAl HE 2 10,516,000 10,516
S XN ALY 29 4,177 3,940 237
202 04t 1,440 1,440 0
01 =LHOHI 1,440 1,440 0
ORdIIK= 88 S 1,440,000& 1,440
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Gl HESE S AsHAUSHIN) (12l M2
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
206 M=l 2,500 2,500
01 MHZH| 2,500 2,500
OldedeEs 223 1,500,000& 1,500
OZESH |FANE+ 423
1,000,000& 1,000
401 Al HIZ R 0HbI 237 237
01 Al&HI 237 237
OF&= FIIdA & Moot
237,000 237
SHHEAL H235H 5,900 5,900 0
202 04l 2,400 2,400
01 =LHAHI 2,400 2,400
O3 MHBA LA S 2,400,000& 2,400
206 MH=H| 3,500 3,500
01 M=4l 3,500 3,500
OMEAL A2F 2,500,000& 2,500
O3t THAA S| 1,000,000 1,000
agied ®o2d 6,940 6,740 200
201 er23| 3,200 3,000 200
03 Ar=EHI 3,200 3,000 200
oMUl 2e+x 28 S
3,200,000& 3,200
202 048l 960 960
01 2L AL 960 960
Oxged ot & 2882 =
960,000& 960
206 M=Hl 1,980 1,980
01 MHZH| 1,980 1,980
O2dE e & Z3E S
1,980,000 1,980
301 EtE N = 800 800
11 #AIAMHIXIZ S 800 800
ONtibIEs F2012 SAH|
800,000 800
HH =S ZH 210,268 203,908 6,360
12 (AL ) (ALSESIH) 210,268 203,908 6,360
22| 210,268 203,908 6,360
201 er23| 102,043 102,492 A449
01 At2teltl 102,043 102,492 AN449
ORNEg=+SHI 37,699,000& 37,69
@r=] 6,144,0002 6,144
Oog - =AH| 58,200,000 58,200
202 04| 23,678 24,700 A1,022
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. dH=2Z3
CHel DI (LA M) (A=) (o) @)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
01 2LHoIH 23,678 24,700 1,022
OJ|2gf==d 23,678,000 23,678
203 HF=AH] 56,960 58,010 21,080
01 D[22 HRFA| 10,900 10,900 0
AENE 4,400,000 4,400
ONHEMEIH S 1,300,000 x56H 6,500
02 HRAIJAHARF | 8,080 8,410 A330
O100& MK 40,0002 %100 4,000
O101~400& 30,0003 %1369 4,080
MU A2 LRFAI 37,980 38,700 AT20
OzA 12,900
=102 OIGH 19 LHTHE L)
2,100,000& 2,100
=1521 OIGH AL E ) 3,000,000& 3,000
=202l OISHEHUESH) 3,600,000& 3,600
=2501 OIGH 0l g etE L) 4,200,000 4,200
OotddH S 23,400
=2521 0IGH =) 4,200,000 4,200
=302 OIGHHA S 40H~)
19,200,000 19,200
Ort= 1,680
o XM oM HIE 1,680,000& 1,680
405 KHaHE SH 27,587 18,706 8,881
01 AL =S F=H 27,587 18,706 8,881
O#HZ AR 27,587
oZOIAS Xt 80,0002 *40H 3,200
oARE Y 300,0003 24 H 7,200
o0|SE WMEME 250,00034 %24 H 6,000
oItElA 9,700,000 = 1SET 9,700
oA} 900,000 *1H 900
1518 452,000 1K 452
oliEelA 135,000 *1H 135
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Sl Ae J|gh ZY(ARSES) (SH9: &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Ol=242A 3,332,549 4,776,393 A1,443,844
DI=E8A2AN 22 3,109,419 4,563,247 A1,443,828
A8 DIt T (AYSESHA) 2,135,646 3,671,123 1,535,477
AY2AN RAES 1,697,671 3,255,056 1,857,385
101 21AH| 34,185 33,237 948
04 JIZtN2Z2XNSE+ 34,185 33,237 948
O&FAr2e| 12 34,184,690 34,185
201 2= 832,260 719,958 112,302
01 At2t2ltl 95,877 41,486 54,391
OIIHOE BRI HelThe
60,000,000 60,000
Odgt+==H| 25,800
o NS OLMHIE 350,0002 x 10 A 123 4,200
oQtNHEIH S 300,000 x6IH =% 123 21,600
OAXg2A 22IES 10,077,000& 10,077
02 s5=34l 736,383 678,472 57,911
0332 € HMAl 564,923,000 554,923
Og=zh| 40,000,000 40,000
OAI2EbBI= X 141,460,000 141,460
206 M=Hl 1,500 1,500
01 MHZH| 1,500 1,500
OFAZe| A2F 1,500,000 1,500
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18 SIS0t oA AS A 731,527 725,266 6,261
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Ot 22 At EX EX SAt
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OFetdly et 222 Wil SAt
19,500,000 19,500
SOHIE 22t Wi SAt
7,200,000 7,200
OFxU ==& WA SA
11,067,000& 11,067
405 AtaHE = 554 10,109 A9,555
01 TR =SFISHI 554 10,109 29,555
O&FEAr2el 23 554
oEHMHHEE 218,400 1M 219
oFdZctold 145,000 14 145
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|  ozsazMeE 89,5002 17 190
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OR&IIN= 88 S 1,440,000& 1,440
206 MH=Hl 1,500 4,847 A3,347
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01 A28l 521 521
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O3 HZA LA S 2,400,000& 2,400
206 M=l 3,500 3,500
01 M=4l 3,500 3,500
OZHEAL A2F 2,500,000 2,500
Ozt A A 1,000,000& 1,000
22EE IS 6,940 6,740 200
201 2= 3,200 3,000 200
03 A2 I 3,200 3,000 200
OME 21272% 24 S
3,200,000& 3,200
202 04l 960 960
01 =LHOHI 960 960
Oagied @it & =g
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206 M=l 1,980 1,980
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oN-titles K212 2
800,000 800
HH =S 3 196,870 195,412 1,458




SN SBLBA
Zu: #eHAY|
Sl D2 AH(ABAYUA) (ALSH3|H) (69 =)
SA - B GR(31) - HIRAY - BES il &k e HlmS2
JI2BU(IFSLYUM) (LAUSESIA) 196,870 195,412 1,458
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ORA2d+EH| 40,474,000 40,474
O=gl 5,856,000& 5,856
Og - =2d| 58,200,000& 58,200
202 04d| 25,420 25,000 420
01 2LHO LI 25,420 25,000 420
OJ|2g2sd 25,420,000& 25,420
203 ZR =& 63,140 63,590 A450
01 J| 2GR F=AH| 10,900 10,900 0
OLYME 4,400,000 4,400
ONMRIEHHE S 1,300,000 *5H 6,500
02 BRIHH R F=AIH| 8,620 8,710 A0
O1008 DX 40,0003 *100H 4,000
O101~400 30,000 154K 4,620
04 RA2LERFLH 43,620 43,980 A360
O2A 12,300
<1021 O|aH(119THHCHS )
2,100,000 2,100
o 1591 OI3H(ALEHA t) 3,000,000& 3,000
<2001 OIGH MY erM Dt SHEHSE)
7,200,000 7,200
OCtEHIH & 30,300
=102l OIGHSE S 3H)
6,300,000& 6,300
©302! 0I5H =& S 5HA)
24,000,000& 24,000
Otttz 1,020
oSt HIE 600,000 600
oM 420,000& 420
405 KHaHE S| 3,780 3,310 470
01 XL = SH S| 3,780 3,310 470
O#F MR 3,780
OANREYTHEHAE) 210,000 = 18K 3,780
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SEAEAM 2 1,457,721 1,247,345 210,376
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AY2AN RAES 431,930 359,632 72,298
101 21AH| 34,185 33,237 948
04 JIZtN2Z2XNSE+ 34,185 33,237 948
O&FAr2e| 12 34,184,690 34,185
201 2= 312,019 276,325 35,694
01 At2t2ltl 29,693 18,600 11,083
Oggt=3ZH| 18,600
SESERURSE=] 350,000 #1042+ 123 4,200
oQtMHIH S 300,0002 *40H A% 123 14,400
Oag2A 2elES 11,093,000& 11,093
02 35284l 282,326 257,725 24,601
OZ332= € HAl 202,093,000 202,093
Od=H| 20,000,000 20,000
OAIZ2Z =X 60,233,000& 60,233
206 M=l 3,700 3,700
01 M=4l 3,700 3,700
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ONLE ot 423 1,200,000& 1,200
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O=2M 2g 22018 &Xl A
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Og sl s g+ SA
7,236,000 7,236
OQSHE U B ZA
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Ot 12 HEEX EX SAt
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01 MHZH| 73,750 44,249 29,501
Ousg 225 8,160,000 8,160
O=EE 223 44,390,000& 44,390
O78ds 223 21,200,000 21,200
405 AtaHE = 152,599 96,430 56,169
01 TR ESFISHI 152,599 96,430 56,169
OAXZBUSEHEE =23 152,599
oY EHES 100, 184
AL SIS 10,000,000 1CH 10,000
IR H2 F2AS
1,210,000 *1H 1,210
AHSAS LE(EEE)
528,000 *3H 1,584
- oloie|ZE NE
15,730,000& *1SET 16,730
FEYNHE 14,520,0002 *1SET 14,520
Sei Xl === 29,700,000 ~1SET 29,700
sHE 0t 3,630,000 *3H 10,890
FHEEE Ot
3,080,000 *1H 3,080
SYSSA 245,000 <204 490
StStAtLD SAlcteldt
220,000 =4 880
UESETRE NE
2,200,000 +2SET 4,400
AESEAE 2OHE
1,320,000 *2SET 2,640
- ZEEED 3,410,000 * 1K 3,410
- BEXIEED] 1,650,000 *1H 1,650
oAZUIES 52,415
ZclgdsA 2,640,000 *1H 2,640
AFF=NHH 2,420,000 *1H 2,420
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H & 0l & AHS B Ml A

202485 204 ALEESIH M

SH9l: AW PR (AL SHE|H) (cre): xg)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
1M9E=USEH 4,825,576 16,697,356 A11,871,780
SHHUSHA =E 4,772,043 16,644,411 A11,872,368
48 JIHEL(LYSESH) 767,734 125,472 642,262
AY2AN RAES 749,127 111,887 637,240
101 21AH| 34,185 24,3% 9,829
04 JIZtN2Z2XNSE+ 34,185 24,3% 9,829
O&FAr2e| 12 34,185,000 34,185
201 2= 86,200 71,957 14,243
01 At2t2ltl 8,388 6,000 2,388
Oggt=3ZH| 7,200
oML 300,000 14+ 123 3,600
o119 s 300,000 x 1042+ 123 3,600
Oag2A 2elES 1,188,000& 1,188
02 35284l 77,812 65,957 11,855
OZ332= € HAl 29,812,000 29,812
Od=H| 22,000,000 22,000
OAIZ2Z =X 26,000,000 26,000
206 M=l 2,666 3,700 A1,034
01 M=4l 2,666 3,700 1,034
OFEAMZe| 225 1,466,000& 1,466
ONLE ot 423 1,200,000& 1,200
401 Al HIZL 2018 604,076 10,974 593,102
01 Al&H| 586,137 10,974 575,163
O2& A e & 2= SAt
27,373,000& 27,373
O=g M1 X St 8,113,000& 8,113
Oagg)| A A= SA
550,651,000 550,651
02 Zeltl 8,117 0 8,117
OAEI AP A= SAF 22l
8,117,000& 8,117
03 AIZ S THYI 9,822 0 9,822
Oaggl| A0 A= A AIZ2UH
9,822,000& 9,822
405 KHaHE SH 22,000 900 21,100
01 AL =S F=H 22,000 900 21,100
O2M1 X =28 22,000
=0lSA At 2,074,000 6 H 12,444
oEZaE Mt 451,000 6 H 2,706
ogzesll 6,850,000 = 1CH 6,850
e =X 58 5,047 6,550 A1,503
405 KHaHE SH 5,047 6,550 A1,503
01 AL =S F=HI 5,047 6,550 21,503
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A eSSt
B SATLUISHH 2
ChSl: A J|BIEM (AYSES|H) (che|: &
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
ORI 5,047
SN = 650,000 1CH 650
odI(0154]) 1,600,000 *1CH 1,600
o398 gt 300,000 *1H 300
=329g oIt 150,000 *5H 750
olig d37| 195,000 *1CH 195
oFA T4 272,000 *1H 272
oHZ 1,280,000 *1H 1,280
TUAE 29 6,140 7,035 A89%5
206 M=Hl 3,000 2,400 600
01 MHZH| 3,000 2,400 600
Oolgals 28 ARS 3,000,000& 3,000
405 AHatE = 3,140 4,635 A1,495
01 ML ESFSHI 3,140 4,635 1,495
O20ls4s 28 =3 3,140
oMIIgE 330,000 1CH 330
o AlE 200,000 174 200
SN 80,0002 *9H 720
cRHED(UHE) 1,890,000 *1CH 1,890
SYEs ord e 7,420 7,420
201 eer23y| 4,160 4,160
01 AFR 22| 2,960 2,960
OBIES oiMel D ANB S
400,000& 400
OddltEd 29 S 960,000 960
Osldes NA S 1,600,000 1,600
2 s5=34l 1,200 0 1,200
OX& S 1,200,000& 1,200
202 04| 500 500
01 2L AL 500 500
ONE&EE8 =4 & 500,000& 500
405 KHaHE SH 2,760 2,760
01 AL =S F=H 2,760 2,760
OM&Eead|+ 2,760
o ARY 1,800,000 *1CH 1,800
ootHZE8E AHEA 960,000 1CH 960
HAEE 5% ASH(AUSEIH) 79,774 81,837 A2,063
~YEs A2 79,774 72,602 7,172
201 fet=3| 76,174 69,002 7,172
01 AtR2t2|HI 2,468 2,422 46
OdlatAd 54| 464,000& 464
O=Xgs SA| 44,000 464
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2A:

M SMHUHSHA &E
Pl AWSD 22 (AUSYSH) (12l M2
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
202 04l 33,59 105,903 AT2,308
01 2LHoIH 18,300 14,318 3,982
OL4gd)| =38 E30HI
18,300,000& 18,300
03 =S 20 15,295 91,585 AT6,290
OEHIAL AIRED] WF0Hl S
15,295,002 15,29%
206 T2 28,862 25,131 3,731
01 X2H 28,862 25,131 3,731
OBBE 2Y U FBHS
10,756,000 10,756
OEHIARS 7,557,000& 7,557
ogs+ag 428 7Y 10,549,000 10,549
401 Al HIZL R 0HbI 2,499,513 1,283,422 1,216,091
01 Al&HI 2,499,513 1,283,422 1,216,091
OAgrdd| HHld| 2,499,513,000& 2,499,513
405 AHaHE = 144,831 109,761 35,070
01 AL =S F=HI 144,831 109,761 35,070
OdAg) HM A28l S
144,831,000 144,831
ZAISTEUSHA ZHALSEIIA) 82,728 44,143 38,585
Sl 1EssH Hat 61,728 24,139 37,589
201 fet= 3| 2,100 2,100 0
01 AtR2tc|HI 2,100 2,100 0
OoNteld 2oss s =S|
1,000,000& 1,000
OExgdAI4 0182 1,100,000 1,100
202 04l 2,160 2,160
01 =LHAHI 2,160 2,160
OS=728% Iz =8 S
2,160,000& 2,160
206 M=l 22,008 19,879 2,129
01 M=4l 22,008 19,879 2,129
O7x3H 224 23 S
19,998,000 19,998
OBA2ACIAEE 2,010,000 2,010
405 AHaHE =4 35,460 35,460
01 ML ESFSHI 35,460 35,460
O&3H AZEE S 0K 35,460,000& 35,460
S=UsSs(ISIIsH) 22 21,000 20,004 9%
201 ger=3| 21,000 20,004 9%
02 S3=gHl 21,000 20,004 9%
OsE2= & HA 21,000,000& 21,000
Y =S ZH 53,533 52,945 588




2A:

19SS

;. dH I3
o9l D12 R (119SATSE) (ALSBEIH) CEERE)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2

JI23HI(1MISUHSH) (ALSEIH) 53,533 52,945 588

2A24H| 53,533 52,945 588

201 er23| 18,960 17,220 1,740

01 At2teltl 18,960 17,220 1,740
ORNEg=+3HI 18,096, 0002 18,096
Ozl 864,000 864

202 04| 11,600 10,440 1,160

01 =LHOHI 11,600 10,440 1,160
OJ|2gR+d 11,600,000 11,600

203 HR=&H] 18,500 18,420 80

01 J|2=2gedR=a] 4,400 4,400 0
OngE==ts=s 4,400,000 4,400

02 3t RF&| 2,400 2,320 80
O100& DXl 40,0002 *60H 2,400

MU FA2SHIFII 11,700 11,700 0
O102! oleH(2SXI&n) 2,100,000& 2,100

O30l OlsH(AE2EU S 2HA)

9,600,000 9,600

405 AHaHE = 4,473 6,865 N2,392

01 ML ESF SHI 4,473 6,865 N2,392
O#F AR 4,473
ogO0IA 2Kt 80,0002 *30H 2,400
oSEHHINE 1,343,000 *1SET 1,343
o =020l 330,000 *1H 330
o3ED| 400,002 *1CH 400
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4,400

1,440

8,400

Ofl &F2H

4,400
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X
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4,400,000

O100F DHXI

40,0002 *36H
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